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For plowing and reaping; he is liable for two nixun

OVERVIEW

N1 ' states in the X1 that (even) after the 7730 wrote' NMawn PP w3,
we still would have assumed that for plowing and harvesting one is 217 two
nxon (even if he did them TR 2%vn2) however for all other Max%n one
would be 211 only one nXvn no matter how many he did (7K 0%v72).

mooIn asks:
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And if you will say; how did 101 7 know that he is liable for two nxvr if
he was 71X 0%¥772 X171 I, we can argue that he is only 291 one nxun for
transgressing both of them 7nx o%vma?!

NB0IN answers:
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And one can say; we know that he is 2°°11 two NIXun since it is written in
the P09 that =°%p3y w3, (with a '2 in each word), which indicates that
v and °Xp are two separate items, since the 770 did not write wsSan2
32?3 ([without the second 2] which would indicate that they are both one item).

SUMMARY
The duplicity of the '2 in 7°¥p21 w2 teaches us that there is a separate 211
nxwn for each of them.

THINKING IT OVER
"1 seemingly addresses this issue as well* (how we know that he is 2»n
o°'nw). Why did not mooIn accept *"w5?

X279 (Rwn) mnw.
2 .
3 See nnma MK and DnOW .
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